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Proof Homework Solutions



Let consecutive odd numbers be

2n 1 and 2n 3

anti ants

In I an 45 9 12h

8Mt 16 n t 10

8 n t 16h t 8 2

4 Zn 8 2 2

so always 2 more than a multiple of 4

Let consecutive even numbers be 2n and 2n 2

Zentz 2n

In 4 8h an

8h 4

4 anti which is a multiple off



Let consecutive numbers be n and ntl

nti n

Mt I 2n n

Intl which is an odd number

Let consecutive odd numbers be

Intl Zn t 3 2n 5

anti t 2n 35 22 5

In't I In an't 9 Rn an't 25 204

1242 364 35

12 n 36 24 11

12 n In 2 Il

which is Il more than a multiple of 12

so leaves a remainder of Il when divided
by 12


